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Name Date

1. Complete the statement.

The 8 in 58,701 represents  times as much as the 8 in 5,870.

2. Write a multiplication equation to relate the 7 in 58,701 to the 7 in 587,019.

3. Write a division equation to show the relationship between the value of the 5 in 587,019 and the 
value of the 5 in 5,870.

Multiply.

4. 62 × 1 ten = 

62 × 10 = 

5. 62 × 1 hundred = 

62 × 100 = 

6. 62 × 1 thousand = 

62 × 1,000 = 
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Divide.

7. 73,000 ÷ 10 = 

8. 73,000 ÷ 100 = 

9. 73,000 ÷ 1,000 = 

Multiply or divide.

10. 47 ×  = 4,700 11. 860 ÷ 10 = 

12. 300 × 1,000 = 13. 25,700 ÷ 100 = 

14.  = 4,630 × 1,000 15. 932,000 ÷  = 932
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Complete the equations and expressions.

16. 12 × 30 = 

12 × 3 × 

 17. 12 × 300 = 

12 × 3 × 

18. 12 × 3,000 = 

12 × 3 × 

19. 240 ÷ 80 = 

240 ÷ ÷ 8

20. 360 ÷ 90 = 

360 ÷ ÷ 9

21. 3,500 ÷ 70 = 

3,500 ÷ ÷ 7

Multiply or divide.

22. 25 × 300 = 23. 450 ÷ 50 = 24. 15 × 400 = 

25. 7,200 ÷ 80 = 26. 45 × 2,000 = 27. 4,800 ÷ 60 = 



5 ▸ M1 ▸ TA ▸ Lesson 2 EUREKA MATH2

22 P R O B L E M  S E T

28. Toby finds the product of 3,240 and 1,000.

3,3,242400 x  x 1,1,000000 =  = 32324,4,000000

Use the number of zeros in the product to explain why Toby’s answer is not correct.

Use the Read–Draw–Write process to solve the problem.

29. A banker has a total of $54,200, all in one hundred-dollar bills. How many one hundred-dollar 
bills does the banker have?

© Great Minds PBC




